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WIS - 3 ; SECTION - A

TS W / Objective Type Questions

5IT HEH 1 80 7w awfre vy #1 g W free 40 w7 w7 I I
T 5T % W e fwer fry my # ot @ g a1 ST & I
7T WE FmeT w1 omR iz av fafEs Y 40 x 1 =40

Question Nos. 1 to 80 are of objective type. Answer any 40 questions. Each
question has four eptions out of which only one is correct. You have 1o mark
your s:s!ected aoption on the OMR sheet. | 40 x 1 =40
| Frefafea § @ fead tu % gt wa € 2
(a) FEFEAI B) TME wiferwT |
© FEdE (D) FE G wr§ TE
The pores of the stomata are surrounded by which of the following ?
(A) Cﬁticlc (B) Guard cells
(C) Lenticels ' (D) None of these
B e i s R
(A) Oz : (B) SO,

() NO, (D) cCo,

— |'=1103-:=a;amj Page 5 of 48
| L8 ]




which gas is liberated during respiration - [ 112
(A) Oy (B) SO,

() NO, B,

wuret & 2

AR (B) =ien

e D)

Which of the following colour of light rays is most effective for

photosynthesis ?

(A)  Green (B) Blue
(€)  Yellow (D) Red
/@“ & qui it § 97 O &l & 2
,,-; A % co, @) g% F=
- © % Ho Gpr FEaad

II 103-(23/30) I Page 6 of 48 |




WHhat is liberated by complete oxidation of glucose ?

(A) Only CO, (B) Only energy

(C) Only HQO (D) All of these
FiforFT fereel fra ye &I oot & 2
(B) SURTH

(a) 9T
(D) TH & HIE A&l

JC)  FE-gRmE
What type of membrane is the cell membrane ?

(A) Permeable (B) Impermeable

(C) Semi-permeable (D) None of these

w. At gt (aTP) 1 faaiRa 9 2
ufefim arsfiT wiEke (B) ufsfa grEwiEhe
ufeifaT ZEHEhe (D) ufefA grEHE TEwERe

(A)
(C)
Full form of ATP is

(A)  Adenine thymine phosphate
(B)  Adenine triphosphate

(C) Adenosine triphosphate

(D) Adenine thymine diphosphate

[112]
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7. =T %1 Iufeufa w5t sig F o S Gema 1 smmEm aar g o
(A)  FEEH B) WHAT

(C) ZIFHEA (D)  AfgET =

‘Which solution is used to test the presence of starch ?

Sedine (B)  Safranin
C)  Eosin (D)  Methylene blue
mﬂﬂ'ﬂ ﬁ!ﬁrﬁ#ﬁﬁmﬂwﬁq{ﬁﬂtmt 2

T & T T (B)  WeRTIT Ft HIEAT W

=¥

(@) T EE T

(B) The amount of light s




[112 ]

" il
A | =
LY '
) TOziferEs (D) =edr 9Tl
/ -
Which of the following is a non-renewable source of energy ?
(A) Sun (B) Wind
(C) Petroleum (D) Flowing water

SHraren Fus F1 HoAt @ araiaE wid &
(A) Ara=Rrg derad B g4
(© w=E (D) 379 9 ®ig =&l

The actual source of energy of fossil fuel is

(A)  nuclear fusion (B) sun

(C) moon (D) none of these

11. 1 ‘%89 &Y S I09A A & IF el oA &

(A)  F9F = (B) T

—

_.  11037:526/526(86) m Page 9 of 48
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Thosc which ‘produce heat on combustion’ are called
(A) engine (B) fuel

(C) heater (D) none of these

12. -1 hT @9 &
(A) a9 UgNUT § (B) T ug§uT g

(C) <To7 ugNoT (D) 399 9 1 78

Euro-II is related to

(A) air pollution (B) soil pollution
water pollution (D)  none of these
ﬁm % oo Rrsiqor eas @ &
+19 =1 faeeit (B)  HHde IHOT
(C)  Treitg zdor (D) T

Dispersion of white light is produced by

(A) glass slab (B)

plane mirror

(C) spherical mirror (D) prism

__..---43
[1103-23/30) | Page 10 of
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14.

mmﬁﬂﬁﬁ%@ﬁmﬁﬁaﬁﬁqﬁﬁwmﬁﬁ
(a) =FEE A (B)  wEAs G

{c) HI A= (D)  FH G 1 74

-

1112

The device which directly converts solar energy into electricity is

known as
(A) Daniel cell (B) Leclanche cell
(C) Solar cell (D) none of these

(j;/"ﬁﬁﬂﬁmﬁﬁﬂanaﬁm% ?

(A) NaOH . (B) Cu(OH),

(C) NH4OH (D)  Mg(OH),

Which one of the following is a strong base ?

(A) NaOH (B) Cu(OH),

(C) NHLOH (D)  Mg(OH),
A @ B aaEfE g g >

(A) co ® co,

(€)  Hyo i R o

Il 1051:3;:0, |
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What is the chemical formula of dry ice

o e o) (B)

(€) Hy0 (D)
_}UL?,#"&;OCIQ F1 wafaa (mmron) a3 w g ?

Z (A)  HfwTam =R sifwarEs (B)

© o gt u;:

What is the common name of l‘:‘:a(}v::l2 ?

(A)  Calcium chloro oxide (B)
(C)  Bleaching powder (D)
W a5 &

(A) NacCl + KIO,, ' (B)
_© (4 IR () = (D)

Iodized salt is

(A)  NaCl + KIO, (B)

(C)  both (A) and (B) (D)

[1
=
co,

H>0,

Fiowas st sifaae
I.iﬁ S T

Calcium oxy oxide

Calcium chloride

NaCl + KI

TH | HE =

NacCl + KI

none of these

Il 103-(23/30) |
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20.

19\.‘ fisrarg o EE 90% Cu 3R 10% Sn &, 3TFT A &

[ 112

(A)  EHest (B)  das
© 99 fae (LD’ T

The alloy consisting of 90% Cu and 10% Sn is named as

(A) Solder (B) Brass

(C) German silver (D) Bronze

_ ST T & UF #0] % & WEopst & A e stEy O S € 2

FUV H w2
© 3 (D) I ey @

How many bonds are there between two atoms of one molecule of

oxygen gas ?
w1 | 2
< 3 (D)  No bond
qorg qug w1 & ?
(A)  ZnO (B) 2ZnS
©  znCl, (D)  znsSo,

@ 3-(23/30) | Page 13 of 48




What is Philosopher wool ?
(A) Zno0 (B) zZns
(C) ZnCl, ) (D) ZnsSo,

22. I=F T AT & Gt 991 FedA &

[

(A) TET (B) TONREH
(C) g (D) HIHISTH

The sodium salts of higher fatty acids are called

(A) rubber (B) plastic

detergent

(A) — CHO (B) — COOH

&) >co D) —o—
Which of the following is a symbol of carbonyl group ?

(A) — CHO _ (B) — COOH

(C) >Co (D) — 0O —

' 1103-(23/30) l
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e Frfefan st At § Saem A dewe ¥ o
(A) U (B) A9+
(c) udHifzs= D) FARIRH
Which of the following organic compounds is an alkyne ?
(A) Ethene (B) Mct.l'.mnc

(C) Acetylene (D) Chloroform

25. FE FESAA @ HAT FL AT &

-

(A)  FETH (B)  &eAroA

_(© EEgEET ()  FEfE A
Carbon combines with hydrogen to form
(A) * aqua regia (B)  halogen
(C) hydrocarbon (D) ionic compound
26, dn ud vefatEn smEd anol & fEw & qa @ 2

(A) 10 (B) 17

) 12 o) 3
1103-23/30) Page 15 of 48
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‘aluminium belong to which group of elements in periodic

(B) Urochrome

(D) Leucoplast

é"' @ Tl Ol '
T F HrE T




[112]

vo. | fom T@ w1 WA N ¥
(A) BT AT FR (B) FHd &I
(C) YT B (D)  TBUT I
Bile juice is secreted by
(A) small intestine (B) liver

(C) pancreas (D) duodenum
30. WA, faeel aa 9mEs F FudE @

(A)  HHAT (B)  3AEHSA 3T

-
—

(C) =9 3T (D) 39 | WIS FE

The forelimbs of man, cat and bat are

(A) homologous organ (B) analogous organs

(C) vestigial organ (D) none of these

31. Tr=ifea § | 19 GI659aT HT ITET § 2

(A)  ETEEI (B) He®

=

(C) = (D) =H | s JEr
‘1 103-123/30) l Page 17 of 48




(B) phenotype

g ariatic n (D) heredity

® 2
D) 4

is 19. What is the valency ?

Page 18&4;
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34.

35

qﬁmmmtﬁwk 7y

(A) CnHap _(B) CnHanea

(C)  CnHapo (D) ¥FH | B T

What is the general formula of an alkane ?

(A) CnHap (B) CnHone2

(C) * ChHzp-2 (D) None of these

G =T 9T T T E 2

(A) 9 (B) 19

'{C} 29 (D) 39

What is the atomic number of fluorine ?

A) 9 B) 19

© 29 D) =9

8 Faera e e A H I &1 T faers w1 pH A w

r;til_“

N T K B 79 s
wte) 79 Eﬁ'qg-‘ D) T A g

-

ffmg-m;m | Page 19 of 48




[ 1145

f i & into Blue. The pH value of this solutic

(B) more than 7

(D) none of these
=

(B) 12

(D) 18

D) Zn

of which of the following metals ?

s (B) Fe
'_':ﬁ'f‘: Bl D) - Zn 2
L | ’r! | Page 20 of
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(C)y Mg<Na<2Zn<Cu

L

The correct order of reactivity of metals is

> Z
(A) Na > Zn > Mg > Cu (B) Na > Mg Cu = £n

(C) Mg < Na < Zn < Cu (D) Na > Mg > Zn > Cu

0. ch203+2A1—+A1203+2F¢ﬁ11=1ﬁ=rﬁaﬁﬁ & frg wr H1 sAfabET & 2
(A) I B) fame=

© Tz (D) fEfeem=

Fe,0O; + 2Al —» AL,O; + 2Fe is which of the following types of

reaction ?
(A) Combination (B) Detoimpositiag
(C) Displacement (D)

[1103-aasao)]
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@ma?-r'qdw

(D) 9 | =1 T

(D) None of these

mmmm*mmﬁwm
" Lo Im.‘t




1 112
;

Where i8 the object plﬂ.t.tr_‘d to form a magnified virtual image in a

concave mirror 7

(A) Between focus and pole
(B) Beyond centre of curvature
(C) At focus

(D) Between centre of curvature and focus

43. GETe & TFAT & (A FEE # 2
U""f

(A) 1 B) 2

(C) 3 (D) eF
How many laws of refraction of light are there ?
(A) 1 (B) 2
(C) 3 (D) 4

44. Tdl mrem & 9EAATE 1 HE FAT B € 2

sint :
: Sy R B smnr
(C) sini + sinr (D) sini x sinr

[1103-@3/30) | Page 23 of 4!




[ l[;
rwam index of a medium »
sin
® sor
(D) sini x sin r
(B) m
(D) ETErey
(B) m
(D)  Dioptre
S G ST () =T w '
u
(B) o
: (D) u+uv x
1agnification (m ) in a concave lens is equal to -
Page 24 of 48




R syqad-ie S & 2

- (A) 1-42 (B) 1-32

©c 224 iEI 2:42

What is the refractive index of diamond ?

(A) 1-42 (B) 1-32

(€) 2-24 . (D) 2-42

o fuv fea Tael 4 o et ® 2

(A) 2 (B) 3

(C) 4 D) 5

A prism is bounded by how many surfaces ?

(A) 2 (B) 3

(<€) 4 (D) 5
sfafrar, frad sl &1 SARE-9EH 0T &, Feerdl &
(a) fawam= 1) TEfEwEea

(C) HATHAA tD) HFaIqoy

1 11

M

|1 105 -(23/30) I
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[ 112§
The reaction in which ions are exchanged is called
(A) displacement (B) double displacement
(C) combination 1 (D) pPrecipitation :
Prferfaa & & = wdimor dafe T8 3 o |[

!

(A) 2H; + O —» 2H,0 B  2KcClo, —» 2KCl + 30,
(€  H, +ClL, » 2HCI "+AD)  Pb (NO,),—» PbO + NO, + O, |
Which of the following equations is not balanced ?
(A)  2H, + O, » 2H,0 (B)  2KCIO, —» 2KCl + 30, -
(C) H, +CL, —» 2HCI . (D) Pb (NOy),—» PbO + NO, + O,

=t ot 33 faeras =1 pa A= BaT 2
(A) O (B) 4
I 7 (D) 14

The pH value of any neutral solution is

(A) o B) 4

e 7 y (D) 14

Il 103-(23/30) | Page 26 of 48




|
n Wﬁﬁmwaﬁa% ?

(A) ﬂﬂw (B) gﬁr

52.

) Afus I3RS (D)  FH | HIE T
Wwhich of the following is a natural indicator ?
(A) Phenolphthalein (B) Turmeric

(C) Methyl orange (D) None of these

53, & §er &1 TuEte g =1 8 ?

(A) Na,CO5.7H,O SAB)  Na,CO,.5H,0
(C) Na,CO,.10H,O (D) Na,CO,.H,O
What is the chemical formula of washing soda ?

(A) Na,CO,4.7H,0 (B) Na,CO,4.5H,0

(C) Na,CO,.10H,0O (D) Na,CO,.H,0

fr=ifera & | = fasda s & 2

L

(a) @fgar (B) T YRR

JC)  ETEHTEI (D) R HE U

112y

|1 103-(23/30)
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~ Which of the following is a heterogenecous compound 7

(B) Limestone

(D) Plaster of Paris




57 enatetEa 2 9 & &9 1 399 o9 wea £ 2
LA

(A) A T (83) I o
©) U &" Ud FEaE §F (D) ATEwEe ol

Which of the following lenses is called diverging lens ?

(A) Concave lens
(B) Convex lens
(C)

Convex lens and concave lens

(D)  Bifocal lens
| 58.  @9H Wyl ¥ feew =@vl w1 AR sAfuwman g & 2

(A) arer (B) A

(C) AT (D) (34

Which colpur has maximum wavelength in visible light ?

(A) Yellow (B) Violet

(<) Red (D) Green

‘I 103-(23/30) l Page 2¢




[112)

© (A T (B) I (o) XL RES e

cienss the value of the resistance, resistors should be

" JWSLEIES ‘.rﬂ

(A)  series (B) parallel

e f{‘c] both (A) and (B) (D) none of these

a.;ﬁ foega 91 7 * ©  FehA

wﬂh instrument does not have a positive (+) and a negative (-

@) Involtmeter UALE S EHERURGETE

 In electric cell (D) In coil

% . 'l-lOS-mfﬂl | Page 30 nl‘4;!_ .
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g SUER R g9 Snae 290 W Fefas g ¥ TEaa e g

&
(A)  FEEHE | IwEd
(C) FHHIEGL (D) 9 9 ®1s T

A converging beam is incident on a plane mirror. The reflected beam

will be
(A) diverging (B) converging
(C) parallel (D) none of these

JEEE TeEE 1 S HEE ¥
(4) T B ™

(€ aNR (D) A

The SI unit of magnetic flux is

(A) watt (B) joule

(C) weber (D) newton

|1 103-(23/30) Page 31 of 4



63,

Ay v dfara 7 afas (B) vI& ufaiy |4 =g !

| 112

qﬁmtm‘alﬁmznﬁﬁéﬁﬁazufﬁmnhmm
AT (least count) F1 z 7

(A) 001 A (B) 0-1A

(C) 0-001 A (D) 2 A

There are 20 divisions between the zero ( 0 ) and 2A number of an
ammeter. What is the least count of the ammeter ?

(A) 001 A (B) O1A

( | 0001 A (D) 2A

Atz &% afaira aaEET &, 1 39 guged ufaay B

© vwemsf Favar o) A FE '
!

If several resistances are parallel, their equivalent resistance will be
(A) more than each resistance

(B) less than each resistance

(C) equal to each resistance

(D) none of these

Il 103-(23/30) | Page 32 of 48
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65. m_ﬁ.mﬁhﬁmﬁ%mﬁﬁfﬂmﬁm- _
S B e ¥ 2
(a) FIRE | @ drer
() gfEa (D)  EEEEASA

Which one of the following proteins is responsible for the red colour

of blood 7
(A) Heparin (B) Haemoglobin
(C) Thrombin (D) Fibrinogen

66. TARITEE ST 1 T1 &Il &
(A)  SHEA (B) e
(€  Hren - (D) &

The colour of chlorophyll pigment is

(A) black (B) yellow

(C) blue (D) green
| 3 = wSRAH | €

(A)  SersA B) T

(©)  msT AT (D)

_

[1103-(23/30 I Page 33 of 48




68.

69.

[IIQI

The hardest part of the teeth is

(A)  dentine (B)  enamel
(C)  pulp cavity (D)  canine
HIERTHHIT B9 % |@yeryor & fhasT g snavas e ?
(A) TR (B) FEEE

(C) T (D) A=A

Which of the following is necessary in the synthesis of thyroxine

hormone ?

(A) Chlorine (B) Iodine
(C) Manganese (D)  Iron
HUEIZH T IZEL0T &

(A) IR} (B) : &hdesh
(C) am .(D) =™

Which is an example of a decomposer ?

{iﬂ} Fungus

(A) Cow

(C) Tiger (D) Grass

|1 103-(23/30) l Page 34 of 48




© R o)

Which is the main source of energy on earth ?
(A) Coal (B) Wood

(C) Water (D) Sun

71. __ﬁ;mﬁaﬁa?rﬁﬁaﬂﬂqﬂiarwwﬁm% ?

(A) FIHSA (B) TAHSH

(C) HEHSHA _(D) =9 g gt
Which of the following is/are a part of environment ?
(A) Atmosphere (B) Hydrosphere
(C) Lithosphere | (D) All of these
o = et i A e A &) 6 ¥ 2

(A) 1 —AB) 2

(C) 3 (D) 4

1221

Il 103-(a3/a0) |
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H1OW many trophic levels are there in a forest ecosystem ?
(B) )
D) 4 '
(B)  FHeEE
-
(D)  EEEERfAT
(B) auxin

(D) cytokinin

(B) T WISt
(P) UF varE

(B) a parasite




[ll.gl

HI=A =1 afvas g3 8
(A) O, (B) O,

A Og (B) O,

(C) O4 (D) Og

(A) T (B)  HESESH
¥ D) TR A

Which mode of nutrition is found in fungi ?

(A) Autotrophic (B) Holozoic
(C)  Saprophytic (D)  None of these
.

[1 103-(23/30) Page 37 of 48




7.

78.

a
arffeufors ds & St 1 wEw € 2
(A)  umfEeiE B) Tafzeig
(C) Fefzeia (D) EEAE
The flow of energy in an ecosystem is
(A) unidirectional (B) bidirectional
(C) rnultidircctit‘:unaJ (D) cyclic
o #59 H o s 9 wig € 2
(A) 1 (B) 2
& T Smy. 4
How many chambers are found in human heart ?
L TR B) 2
- (C) 3 (D) 4 .
—[i103werea] Page 38°




(112

7o fawrd gfeso @ eardt Had sifus worar & 2

(A) et (B) = C o
() HAmTIZE (D)  SEm]

According to evolutional view, we are more similar to
(A) Chimpanzee (B) Spider

(C) Orangutan (D) Bacteria
80. =u @ 7@ = # Freitea § @ Fa-d sfafmar @ ¥ 2
_ A FEeT B) fFwvam

() S (D)  WEhRTIT eI

Which one of the following reactions occurs in the formation of curd

from milk ?
(A)  Dissociation (B) Fermentation
(C) Excretion (D) Photosynthesis

if 103-(23/30) I Page 39 of 48
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Wifess v / Physics

”W W9 / Short Answer Type Questions

ﬁ##w-cmfﬂraﬁ?#rm

1 to 8 are Short Answer Type. Answer any 4 questions. Each

2 marks 4x2=8
saimEaFE 2 ° n
‘is the source ol';:ncrgy of the sun ?
jQ};J:- mq.ﬂla— St : | ’
Whatis nuclear fission ? -‘: 5

. ey
_—— .

How does a light ray proceed m a lens ? Show by 'adiagram.
110. :ﬁwﬂl Page 40 of 4



{112
TR A 8 7 TE Jesh o =1 gftra A W HE I
T HJeT ? 2

What type of current will flow in a conducting loop, when rotated in a

uniform magnetic field ?
_ faga um & FrEEE wEE 6 REE #q s s 6 Ao Fi7] 2

Describe an experiment to show the magnetic effect of electric

current.
iR =1 Seafa =1 HROT ¥ 2 2
What is the cause for the origin of resistance ?

forge ooy & 9 aR = S A ¥ 2 2

Why are fuse wires used in electrical circuits ?

: 2
8. ‘Feeruwm #E ?
N\
What is ‘Tyndall effect’ ?

1103-(23/30) |




= 39T wv / Long Answer Type Questions

ST W=T 9 sl 10 FE IAT wva F1 oz @ At vE T 39T 51 g

9T & fore 6 siw fraifea #1 I1x6=¢g

Question Nos., 9 and 10 are Long Answer Type. Answer any one of them

Each question carries 6 marks. 1 x6=¢6
9. SHETTE 42 F1 "ol F9ra2 991 a1 1 9ot w51 6

Describe the basic construction and working of a biogas plant.

Y-

10. €K FeHT T SUENT ST F T AT GG w0 § o 6

e

-

What are the advantages and disadvantages of using a solar cooker ?

1103-(23/30) Page 42 of 48




IHTTT Y& / Chemistry

g ﬁﬁ'ﬂ' U9 / Short Answer Type Questions

m11ﬂ13ﬁWﬁﬂq%|Fﬁﬁfﬁ4qﬁﬁ;mﬁ.l .

|5 fore 2 siw Fraifa &1 R4

¥ Questio

n Nos. 11 to 18 are Short Answer Type. Answer any 4 questions. Each

| guestion carries 2 marks. S D8

11. 102 M NaOH fererasT &1 pH HIF 30T &2 | 5
Calculate the pH value of 107> M NaOH solution.

12. Eﬁﬁwaﬁmﬁrﬁrﬁaﬂﬁﬁaﬁnﬁﬁwaﬁﬁ| >

Name any two industries dependent on forest resources.

\
b i A e
ud A ford | },{-c-ﬂ‘ﬁ'g”" .
— L) ! U" 4
PN {:‘ N

Are the structural isomers of bromopentane possible ?- If ves, then

write their structural formulae and names.

[1103-23/30 | Page 43 of 48
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16.

18.

ﬁ"’a‘xa-
o e
(%
e "
L ' 7 1
'I"i.,.-
o= T & ? sEH qEEF TH, 93 Us 39gnT foed | >

What is bleaching powder ? Write its chemical name, formula apy

uses.

2
Explain the difference between Washing soda and Baking soda '
m@a:rsrm?mwaaﬁﬁmmﬁﬁmm%%‘? 2 '
|
In what form do hydrogen ions ( H* ) exist in water ?
|
W(m)%ﬁmw-mﬁ? 2 l

What do you understand by decomposition reaction ?
ﬁmaﬁyﬁmzﬁﬁﬂaﬁ%%@w-wmﬁﬁmmm% 2

What measures can be taken to prevent food from bad smelling ? .S

il 103-(23/30) Page 44 of 48




| | 112
= IFNT Uy / Long Answer Type Question |
k.

7YY WEaT 19 Ua 20 319 3w3g 1 2w .

Ieir faro s 3i® fFreifia 21

II 1 x5 = 5
| Question Nos. 19 and 20 are Long Answer Type. Answer any one of them

Each gquestion carries 5 marks. [ hEes
ole @1 Ush WHE 39%F &1 79 U9 g7 fod | 39 33 =0 wigw 53
l AT I :

Write the name and formula of a chief ore of iron. How is this ore

g 19.

concentrated ?

20, WA GHMA] & HIAY Ud WEYE | AT F1 GHAD & 2 5

]

What do vou understand by conservation and management of natural

resources ?

siia fa@r / Biology
(1} IF0a Il‘Fl‘_ / Short Answer Type Questions

Uy WA 21 @ 28 % g I &1 34 § el 4 gyl & 3w §1 94w

wvT @ few 2 3w e &1 4x2=8

Question Nos. 21 to 28 are Short Answer Type. Answer any 4 questions. Each

question carries 2 marks. 4x2=8

21, ifires a s St A SfoX FA

2
n_—

Differentiate between sexual and asexual reproduction.
il 103-(23/30) Page 45 of 48
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29 mﬂqm-ﬁmw% ?

What is radiocarbon dating ?

23. sHfeiag =gy ¢ ?

What is dialysis ?
24. WIOTERTE 7 AL-TRTTOT = qivsmey F
What is pollination 7 Define cross pollination,

25. fa Ty ?W%Wﬁmwnﬁ%?

What is bile ? What is its importance in human digestion ?

26.  TESET Gigor = ? I=MEIOT Gfed 3HT 7 |
S

What is saprophytic nutrition ? Answer with example.

27. Fowl, BT, FY 3R A= ¥ qew aww i F w6 2
'C-_.-""f; o e Y - = o= : . R .

o,
Write the names of the main respiratory organs of fish, mosqu

earthworm and man.
2
w*wmaﬁmﬁilﬁ ?

Nutrition is essential for living beings. Why ?
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#te 39T 99T / Long Answer Type Questions
g WEAT 29 U9 30 23 FEHT &1 g9 @ fEEl U FT IOV & | 9AF 9T
¥ frw 5 o raiRa 21 1x5=5
Question Nos. 29 and 30 are Long Answer Type. Answer any one of them.

Each guestion carries 5 marks. 1x5

Draw a neat labelled diagram of human respiratory organs.

(Description 1s not needed)

30. Wﬁaﬁﬂw%?aﬁﬁmﬁm%? -
What is tissue culture ? How is it accomplished ?
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